On the Baker-Akhiezer function in the AKNS scheme

This article has been downloaded from IOPscience. Please scroll down to see the full text article.
2001 J. Phys. A: Math. Gen. 34 L441
(http://iopscience.iop.org/0305-4470/34/33/101)
View the table of contents for this issue, or go to the journal homepage for more

Download details:
IP Address: 171.66.16.97
The article was downloaded on 02/06/2010 at 09:10

Please note that terms and conditions apply.

## LETTER TO THE EDITOR

# On the Baker-Akhiezer function in the AKNS scheme 

A M Kamchatnov<br>Institute of Spectroscopy, Russian Academy of Sciences, Troitsk, Moscow Region 142190, Russia and<br>Instituto de Física Teórica, Universidade Estadual Paulista, Rua Pamplona 145, 01405-900 São Paulo, Brazil<br>E-mail: kamch@isan.troitsk.ru

Received 23 March 2001, in final form 2 May 2001
Published 10 August 2001
Online at stacks.iop.org/JPhysA/34/L441


#### Abstract

Expressions for the Baker-Akhiezer function and their logarithmic space and time derivatives are derived in terms of the matrix elements of $\mathbb{U}-\mathbb{V}$ matrices and 'squared basis functions'. These expressions generalize the well known formulas for the KdV equation case and establish links between different forms of the Whitham averaging procedure.


PACS number: 02.30.Jr

It is well known that the Baker-Akhiezer (BA) function plays a central role in the finite-gap integration method of completely integrable equations (see, e.g., [1]). This method permits one to obtain the BA function in terms of Riemann $\theta$-functions and, consequently, a quasi-periodic solution of the equation under consideration.

At the same time, some other expressions for the BA function are of great importance in the general theory of the finite-gap integration method and its applications. As a key example we note the well known formulas from the theory of KdV equation hierarchy

$$
\begin{equation*}
u_{t}=\frac{1}{2} \mathcal{B}_{x x x}+2 \mathcal{B}_{x}(u+\lambda)+\mathcal{B} u_{x} \tag{1}
\end{equation*}
$$

which is a compatibility condition of two linear equations

$$
\begin{equation*}
\psi_{x x}=-(u+\lambda) \psi \quad \psi_{t}=-\frac{1}{2} \mathcal{B}_{x} \psi+\mathcal{B} \psi_{x} \tag{2}
\end{equation*}
$$

where $\mathcal{B}=4 \lambda-2 u$ for the KdV equation $u_{t}+6 u u_{x}+u_{x x x}=0$, and which can easily be found for higher KdV equations by means of simple recursion relations (see, e.g., [2-4]). Then the solution of equations (2) can be written in the form

$$
\begin{equation*}
\psi^{ \pm}=\sqrt{g} \exp \left( \pm \mathrm{i} \sqrt{P(\lambda)} \int^{x} \frac{\mathrm{~d} x}{g}\right) \tag{3}
\end{equation*}
$$

where the product $g=\psi_{+} \psi_{-}$of two basis functions satisfies the equations

$$
\begin{equation*}
g_{x x x}+2 u_{x} g+4(u+\lambda) g_{x}=0 \quad g_{t}=\mathcal{B} g_{x}-\mathcal{B}_{x} g \tag{4}
\end{equation*}
$$

The first equation here has the first integral

$$
\begin{equation*}
\frac{1}{2} g g_{x x}-\frac{1}{4} g_{x}^{2}+(u+\lambda) g^{2}=P(\lambda) \tag{5}
\end{equation*}
$$

where $P(\lambda)$ is an odd-degree polynomial in $\lambda$. If $P(\lambda)$ is the $(2 n+1)$-degree polynomial

$$
\begin{equation*}
P(\lambda)=\prod_{i=1}^{2 n+1}\left(\lambda-\lambda_{i}\right)=\lambda^{2 n+1}-s_{1} \lambda^{2 n}+s_{2} \lambda^{2 n-1}+\cdots+s_{2 n} \lambda-s_{2 n+1} \tag{6}
\end{equation*}
$$

then $g$ is the $n$-degree polynomial

$$
\begin{equation*}
g=\prod_{i=1}^{n}\left(\lambda-\mu_{i}\right)=\lambda^{n}-\sigma_{1} \lambda^{n-1}+\sigma_{2} \lambda^{n-2}+\cdots+(-1)^{n} \sigma_{n} \tag{7}
\end{equation*}
$$

whose coefficients are expressed in terms of $u$ and its $x$ derivatives by the trace formulas

$$
\begin{align*}
& \sigma_{1}=\sum \mu_{i}=\frac{1}{2}\left(u+s_{1}\right) \\
& \sigma_{2}=\sum_{i<j} \mu_{i} \mu_{j}=\frac{1}{4}\left(u_{x x}+3 u^{2}\right)+\frac{3}{2} s_{1} u+s_{2}-\frac{1}{4} s_{1}^{2} \tag{8}
\end{align*}
$$

Substitution of equations (7) and (8) in equation (3) yields the BA function in terms of the potential $u(x, t)$ and its $x$ derivatives. Differentiation of equation (3) with respect to $x$ gives

$$
\begin{equation*}
\frac{\psi_{x}^{ \pm}}{\psi^{ \pm}} \equiv\left(\ln \psi^{ \pm}\right)_{x}=\frac{g_{x} \pm 2 \mathrm{i} \sqrt{P(\lambda)}}{2 g} \tag{9}
\end{equation*}
$$

From the second equation (4) we have the conservation law

$$
\begin{equation*}
\left(\frac{1}{g}\right)_{t}=\left(\frac{\mathcal{B}}{g}\right)_{x} \tag{10}
\end{equation*}
$$

and, hence, differentiation of equation (3) with respect to $t$ gives

$$
\begin{equation*}
\frac{\psi_{t}^{ \pm}}{\psi^{ \pm}} \equiv\left(\ln \psi^{ \pm}\right)_{t}=\frac{g_{t} \pm 2 \mathrm{i} \sqrt{P(\lambda)} \mathcal{B}}{2 g} \tag{11}
\end{equation*}
$$

Thus, the logarithmic derivatives of the BA fuctions provide the generating functions of densities and flows for sequence of conservation laws of the KdV equation ${ }^{1}$.

A natural question arises: how one can generalize the formulas (3), (9) and (11) for the BA function and its logarithmic derivatives on other integrable systems. Some particular results in this direction were obtained in [6] for the AKNS hierarchies corresponding to the ZakharovShabat spectral problem. Here we shall derive by a simple and direct method the formulas of that kind for the general form of the $2 \times 2$ AKNS scheme without any specializing of the ' $\mathbb{U}-\mathbb{V}$ ' matrices.

We shall start from two linear systems

$$
\begin{array}{ll}
\psi_{1, x}=F \psi_{1}+G \psi_{2} & \psi_{1, t}=A \psi_{1}+B \psi_{2}  \tag{12}\\
\psi_{2, x}=H \psi_{1}-F \psi_{2} & \psi_{2, t}=C \psi_{1}-A \psi_{2}
\end{array}
$$

which constitute the AKNS scheme (in [7] this was discussed for a particular case with $F=-\mathrm{i} \lambda, G=q(x, t), H=r(x, t))$, where the coefficients depend on an arbitrary spectral
${ }^{1}$ Note that the equations (3), (5) and (9), as well as some other facts from the finite-gap integration method, were discovered as early as in 1919 by J Drach in his remarkable but forgotten papers [5]. I am grateful to Yu V Brezhnev for information about these papers.
parameter $\lambda$ and functions $u_{k}(x, t)$ whose evolution is governed by the equations resulting from the compatibility conditions $\psi_{1, x t}=\psi_{1, t x}$, namely,

$$
\begin{align*}
& F_{t}-A_{x}+C G-B H=0 \\
& G_{t}-B_{x}+2(B F-A G)=0  \tag{13}\\
& H_{t}-C_{x}+2(A H-C F)=0
\end{align*}
$$

The systems (12) have two basis solutions $\psi^{ \pm}=\left(\psi_{1}^{ \pm}, \psi_{2}^{ \pm}\right)$from which 'squared basis functions'

$$
\begin{equation*}
f=-\frac{\mathrm{i}}{2}\left(\psi_{1}^{+} \psi_{2}^{-}+\psi_{1}^{-} \psi_{2}^{+}\right) \quad g=\psi_{1}^{+} \psi_{1}^{-} \quad h=-\psi_{2}^{+} \psi_{2}^{-} \tag{14}
\end{equation*}
$$

can be constructed. They satisfy the following linear systems:

$$
\begin{array}{ll}
f_{x}=-\mathrm{i} H g+\mathrm{i} G h & f_{t}=-\mathrm{i} C g+\mathrm{i} B h \\
g_{x}=2 \mathrm{i} G f+2 F g & g_{t}=2 \mathrm{i} B f+2 A g  \tag{15}\\
h_{x}=-2 \mathrm{i} H f-2 F h & h_{t}=-2 \mathrm{i} C f-2 A h .
\end{array}
$$

From equations (13) and (15) the important relations

$$
\begin{align*}
& \left(\frac{G}{g}\right)_{t}=\left(\frac{B}{g}\right)_{x} \\
& \left(\frac{H}{h}\right)_{t}=\left(\frac{C}{h}\right)_{x} \tag{16}
\end{align*}
$$

can be obtained [8] which represent the generating functions for conservation laws of the evolution equations (13). The constancy of the Wronskian of systems (12) yields the relation

$$
\begin{equation*}
-\frac{1}{4}\left(\psi_{1}^{+} \psi_{2}^{-}-\psi_{1}^{-} \psi_{2}^{+}\right)^{2}=f^{2}-g h=P(\lambda) \tag{17}
\end{equation*}
$$

and periodic solutions of equations (13) are distinguished by the condition that $P(\lambda)$ be a polynomial in $\lambda$.

Our aim is to obtain formulas analogous to equations (3), (9) and (11) for $\psi^{ \pm}$. To this end we notice that the square root from equation (17),

$$
\frac{\mathrm{i}}{2}\left(\psi_{1}^{+} \psi_{2}^{-}-\psi_{1}^{-} \psi_{2}^{+}\right)=\sqrt{P(\lambda)}
$$

(another choice of sign interchanges $\psi^{+}$and $\psi^{-}$) and the first equation of (14) yield the identities

$$
\begin{equation*}
\frac{-\mathrm{i} \psi_{1}^{+} \psi_{2}^{-}}{f-\sqrt{P(\lambda)}}=\frac{-\mathrm{i} \psi_{1}^{-} \psi_{2}^{+}}{f+\sqrt{P(\lambda)}}=1 \tag{18}
\end{equation*}
$$

and that equation (17) can be rewritten in the form

$$
\begin{equation*}
g h=(f-\sqrt{P(\lambda)})(f+\sqrt{P(\lambda)}) \tag{19}
\end{equation*}
$$

Then we have a chain of simple transformations

$$
\begin{align*}
\psi_{1, x}^{+} & =F \psi_{1}^{+}+G \psi_{2}^{+} & & \\
& =\frac{1}{2 g}\left(g_{x}-2 \mathrm{i} G f\right) \psi_{1}^{+}+G \frac{-\mathrm{i} \psi_{1}^{+} \psi_{2}^{-}}{f-\sqrt{P(\lambda)}} \psi_{2}^{+} & & \text {by }(15) \text { and }(18) \\
& =\frac{1}{2 g}\left[g_{x}-2 \mathrm{i} G\left(f-\frac{g h}{f-\sqrt{P(\lambda)}}\right)\right] \psi_{1}^{+} & & \text {by }(14) \\
& =\frac{1}{2 g}\left(g_{x}+2 \mathrm{i} \sqrt{P(\lambda)} G\right) \psi_{1}^{+} & & \text {by }(19) \tag{19}
\end{align*}
$$

and similar calculations can be done for the other $x$ derivatives of $\psi^{ \pm}$. As a result we obtain the formulas

$$
\begin{align*}
& \psi_{1, x}^{ \pm}=\frac{1}{2 g}\left(g_{x} \pm 2 \mathrm{i} \sqrt{P(\lambda)} G\right) \psi_{1}^{ \pm} \\
& \psi_{2, x}^{ \pm}=\frac{1}{2 h}\left(h_{x} \pm 2 \mathrm{i} \sqrt{P(\lambda)} H\right) \psi_{1}^{ \pm} \tag{20}
\end{align*}
$$

for which integration yields

$$
\begin{align*}
& \psi_{1}^{ \pm}=\sqrt{g} \exp \left( \pm \mathrm{i} \sqrt{P(\lambda)} \int^{x} \frac{G}{g} \mathrm{~d} x\right)  \tag{21}\\
& \psi_{2}^{ \pm}=\sqrt{-h} \exp \left( \pm \mathrm{i} \sqrt{P(\lambda)} \int^{x} \frac{H}{h} \mathrm{~d} x\right) \tag{22}
\end{align*}
$$

Differentiation of these relations with respect to $t$ gives, taking into account equations (16),

$$
\begin{align*}
& \psi_{1, t}^{ \pm}=\frac{1}{2 g}\left(g_{t} \pm 2 \mathrm{i} \sqrt{P(\lambda)} B\right) \psi_{1}^{ \pm}  \tag{23}\\
& \psi_{2, t}^{ \pm}=\frac{1}{2 h}\left(h_{t} \pm 2 \mathrm{i} \sqrt{P(\lambda)} C\right) \psi_{2}^{ \pm}
\end{align*}
$$

These are the formulas for the BA functions we wanted to obtain.
As a simple application of these results let us note that equations (20) and (23) written in the form

$$
\begin{align*}
& \left(\ln \frac{\psi_{1}^{+}}{\sqrt{g}}\right)_{x}= \pm \mathrm{i} \sqrt{P(\lambda)} \frac{G}{g} \\
& \left(\ln \frac{\psi_{1}^{+}}{\sqrt{g}}\right)_{t}= \pm \mathrm{i} \sqrt{P(\lambda)} \frac{B}{g} \tag{24}
\end{align*}
$$

(and similar formulas for $\psi_{2}^{ \pm}$) show that in the AKNS scheme the Whitham averaging over fast variation of the quasi-periodic solution with slowly modulated parameters (zeros of the polynomial $P(\lambda)$ ) performed according to Krichever's rule (see, e.g., [9])

$$
\begin{equation*}
\left[\overline{\left(\ln \frac{\psi_{1}^{+}}{\sqrt{g}}\right)_{x}}\right]_{t}=\left[\overline{\left(\ln \frac{\psi_{1}^{+}}{\sqrt{g}}\right)_{t}}\right]_{x} \tag{25}
\end{equation*}
$$

is equivalent to the rule suggested in [8] (see also [4])

$$
\begin{equation*}
\left(\overline{\sqrt{P(\lambda)} \frac{G}{g}}\right)_{t}=\left(\overline{\sqrt{P(\lambda)} \frac{B}{g}}\right)_{x} \tag{26}
\end{equation*}
$$

where the line over an expression denotes its average.
Let us illustrate these results by a simple concrete example of one-phase periodic solution of the nonlinear Schrödinger (NLS) equation

$$
\begin{equation*}
\mathrm{i} u_{t}+u_{x x}+2|u|^{2} u=0 \tag{27}
\end{equation*}
$$

which can be presented as a compatibility condition of the linear systems (12) with the coefficients

$$
\begin{array}{lcc}
F=-\mathrm{i} \lambda & G=\mathrm{i} u & H=\mathrm{i} u^{*}  \tag{28}\\
A=-2 \mathrm{i} \lambda^{2}+\mathrm{i}|u|^{2} & B=2 \mathrm{i} u \lambda-u_{x} & C=2 \mathrm{i} u^{*} \lambda+u_{x}^{*} .
\end{array}
$$

The one-phase solution corresponds to the fourth-degree polynomial (17)

$$
\begin{equation*}
P(\lambda)=\lambda^{4}-s_{1} \lambda^{3}+s_{2} \lambda^{2}-s_{3} \lambda+s_{4} \tag{29}
\end{equation*}
$$

(see, e.g., [4]), and in this case the solution of the system (15) is given by

$$
\begin{equation*}
f=\lambda^{2}-f_{1} \lambda+f_{2} \quad g=\mathrm{i} u(\lambda-\mu) \quad h=\mathrm{i} u^{*}\left(\lambda-\mu^{*}\right) \tag{30}
\end{equation*}
$$

where

$$
\begin{equation*}
f_{1}=s_{1} / 2 \quad f_{2}=\left(s_{2}-s_{1}^{2} / 4-|u|^{2}\right) / 2 \tag{31}
\end{equation*}
$$

and the auxiliary spectrum point $\mu$ satisfies the Dubrovin equations

$$
\begin{equation*}
\mu_{x}=-2 \mathrm{i} \sqrt{P(\mu)} \quad \mu_{t}=s_{1} \mu_{x} \tag{32}
\end{equation*}
$$

and is connected with $u$ by the trace formula

$$
\begin{equation*}
u_{x}=2 \mathrm{i} u\left(\mu-s_{1} / 2\right) . \tag{33}
\end{equation*}
$$

With the use of these relations, the first formula (21) transforms at once to

$$
\begin{align*}
& \psi_{1}^{ \pm}=\sqrt{\mathrm{i} u(\lambda-\mu)} \exp \left( \pm \mathrm{i} \sqrt{P(\lambda)} \int^{x} \frac{\mathrm{~d} x}{\lambda-\mu}\right) \\
& \quad=\sqrt{\mathrm{i} u\left(\lambda-s_{1} / 2\right)-u_{x} / 2} \exp \left( \pm \mathrm{i} \sqrt{P(\lambda)} \int^{x} \frac{\mathrm{~d} x}{\lambda-s_{1} / 2+\mathrm{i}(\ln u)_{x} / 2}\right) \tag{34}
\end{align*}
$$

and similar expressions can be written for $\psi_{2}^{ \pm}$.
The last line of (34) gives $\psi_{1}^{ \pm}$in terms of $u, u_{x}$, constant parameters $s_{i}, i=1,2,3,4$, and the spectral parameter $\lambda$. However, in some applications it is more convenient to use the first line of (34) due to simplicity of the corresponding logarithmic derivatives (24). In particular, for the NLS equation case, the averaged generating function (26) of the conservation laws takes the form

$$
\begin{equation*}
\left(\overline{\sqrt{P(\lambda)} \frac{1}{\lambda-\mu}}\right)_{t}=\left(\overline{\sqrt{P(\lambda)}\left(2+\frac{s_{1}}{\lambda-\mu}\right)}\right)_{x} \tag{35}
\end{equation*}
$$

and averaging with the use of (32) according to the rule

$$
\overline{\frac{1}{\lambda-\mu}}=\frac{1}{L} \oint \frac{\mathrm{~d} x}{\lambda-\mu}=\frac{\mathrm{i}}{2 L} \oint \frac{\mathrm{~d} \mu}{(\lambda-\mu) \sqrt{P(\lambda)}}
$$

where $L$ is the wavelength, leads very easily to the Whitham modulational equations (see, e.g., [4]). A similar approach applies to many other equations described by the AKNS inverse scattering scheme.

Finally, I note that in the recent paper [10] a method was suggested for obtaining expressions for BA functions in terms of potentials, which was based on Novikov's representation of the finite-gap solution as a stationary solution of the so-called Lax-Novikov equations involving higher equations of the hierarchy under consideration. A simple method presented here gives the same results after expressing $g$ in terms of potentials $u_{k}(x, t)$ that can be easily achieved by the use of trace formulas. It does not use higher equations of the hierarchy under consideration, yields also the temporal counterparts of formulas for logarithmic derivatives of the BA functions, but is restricted to the AKNS scheme only.

I am grateful to Yu V Brezhnev for useful discussions. This work was partially supported by RFBR (grant 01-01-00696) and FAPESP (Brazil).

## References

[1] Belokolos E D, Bobenko A I, Enolskii V Z, Its A R and Matveev V B 1994 Algebro-Geometrical Approach to Nonlinear Integrable Equations (Berlin: Springer)
[2] Zakharov V E, Manakov S V, Novikov S P and Pitaevskii L P 1980 The Theory of Solitons: The Inverese Scattering Method (Moscow: Nauka) (Engl. transl. 1984 New York: Consultants Bureau)
[3] Newell A C 1985 Solitons in Mathematics and Physics (Philadelphia, PA: SIAM)
[4] Kamchatnov A M 2000 Nonlinear Periodic Waves and Their Modulations-An Introductory Course (Singapore: World Scientific)
[5] Drach J 1919 Compt. Rend. 4747
Drach J 1919 Compt. Rend. 47337
[6] Gesztesy F and Ratneseelan R 1998 Rev. Math. Phys. 10345
[7] Ablowitz M J, Kaup D J, Newell A C and Segur H 1974 Stud. Appl. Math. 53249
[8] Kamchatnov A M 1994 Phys. Lett. A 186387
[9] Dubrovin B A and Novikov S P 1993 Sov. Sci. Rev. C. Math. Phys. 91
[10] Ustinov N V and Brezhnev Yu A 2001 Uspekhi Mat. Nauk. at press Ustinov N V and Brezhnev Yu A 2000 Preprint nlin.SI/0012039

